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& K 4 ouT IN 5°AR HD NET
1|#EHE % 35 39 74 3 71
2R B 36 41 77 5 72
3|f@K Ih 40 37 77 4 73
4|EER & 42 40 82 8 74
5| ARH X=E 40 39 79 5 74
60O Bl 39 41 80 6 74
11%5H# M5 44 40 84 9 75
10|fa7t 1EHE 41 40 81 5 76
200248 BEZ 40 43 83 4 79
30[8R #HE 41 47 88 6 82

B#i (10~36)

NI K 4 ouT IN 5°AR HD NET
1MER —2 44 45 89 18 71
2|11&IR FH— 39 43 82 10 72
JHHE & 47 46 93 20 73
ek RE 47 48 95 22 73
5|0 IEE 46 42 88 14 74
6|FAR iE 43 49 92 18 74
TIKH BB 43 42 85 10 75
10|1f84 IE/& 43 44 87 12 75
2001 #k &= 41 52 93 14 79
0L 1&HH 51 51 102 20 82
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AfE |tEH ¥ 35 39 74
Bl |&ER FH— 39 43 82
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